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UP Police Constable Oct 25, 2018 Question Paper

GENERAL KNOWLEDGE

Article 66 of the Constitution of India
deals with;

(A) the constitution of Parliament

(B) election of Vice-President

(C) duration of Houses of Parliament
(D) the Attorney-General for India

The capital of Syria is:
(A) Aleppo
(C) Homs

(B) Damascus
(D} Hamah

Which of the following is the currency of
Myanmar?
(A) Kyat
(C) Rial

(B) Naira
(D) Krone

Which of the following is the most
populated country in Africa?

(A) Morocco (B) Nigeria

(C) Benin (D) Somalia

Which among the following countries of
North America has the largest forest area
in the North American region in terms of
percentage to total land area ?

(A) Cuba

(B) Canada

(C) Haiti

(D) Jamaica

Which of the following rivers does NOT
drain into the Bay of Bengal?

(A) Narmada (B) Kaverfi

(C) Krishna (D) Godavari

The noted human rights activist Kriti
Bharti is engaged in a crusade against:
(A) acid attacks on women

(B) child and bonded labour

(C) child marriages

(D) manual scavenging
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Q10
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=0 ﬁwﬁa is going to
sha specialized

signed between
(A) 1970
(C) 1974

In which city has NABARD set up a
Centre for Climate Change in 20182

(A) Patna (8) Bhopal

(C) Jaipur (D) Lucknow

To which country does Madame Christine
Lagarde, Managing Director and
Chairperson of the International Monetary
Fund, belong? v

(A) United States of America

(B) Switzerland

(C) France

(D) Australia

Blood clot is formed because of the
presence of certain cells in the blood,
called: .

(A} Erythrocytes

(B) Lymphocytes

(C) Monocytes

(D) Thrombocytes

of male and female gametes takes place to

(A) Zygote (B) Embryo
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There are some plastics which when
moulded once, cannot be softened by
heating. These are called:

(A) Polyvinyl Chloride

(B) High-density polyethene (HDPE)
(C) Thermoplastic Polyurethanes (TPU)

(D) Thermosetting plastics

An adult human being normally passes
about 1 to of urine in 24 hours.
(A) 121 (B) 2.5L

(Cy 3.0L (D) 1.8L

On 11 December 2014, the United Nations
proclaimed ___ as the Intemational
Day of Yoga by resolution 69/131.

(A) 21 June

(B) 25June

(C) 25May

(D) 21 May

Nobel prize for inventing Vitamin K in
1943 was given to

(A) ECKendel

(B) Doisy & Dam

(C) Carl Linnaeus

(D) Stanford Moore

Who is the author of the book ‘Inside IB
and RAW: The Rolling Stone That
Gathered Moss™?

(A) Ashok Chaturvedi

(B) Vikram Sood

(C) K Sankaran Nair

(D). 'KCW
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- uter program
uthorised comp g
bA t;“l:::g “‘k, an authorised program,
thcercby concealing what i is actually
doing, is probably:

Trojan H Voyeur
A) Trojan Horse (BJ
EC)) Did-:ﬂing (D) Spamming

16 year old Saurabh.Chaudhary who wor,
a gold medal fn shooting at Jakarta Aginn

Games, 2018, hails from of Uttnr
Pradesh. _

(A) Allahabad  (B) Gorakhpur

(C) Meerut (D) Aligarh

Which of the following is NOT a tributary

of the river Yamuna?
(A) Ken (B) Betwa
(C) Chambal (D) Kalyani

The soil in which potash is mainly deficient
is found in district of Uttar
Pradesh.

(B) Baharaich
(D) Gonda

(A) Jaunpur
(C) Balrampur

Which of the following Dsctriots of Uttar
Pradesh is a part of Bundelkhand region?
(A) Chandaulj (B) Aursiya

(C) Mahoba (D) Etah

The Lion Capital of Ashoka, which has
been adopted as the National Emblem by
the Government of India, i preserved in
the museum,

(A) Kushinagar (p) Samath

(C) Kannayj (@) Lumbin;

Pradesh was known gg Jaiiar e .
Jayhoti under the Ch&ify;i?:;uktn or
(A) Avadh A
(B) Bundelkhand
(C) Kashi :
(D) Doab
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Uttar Pradesh is also credited with

publishing the first feminist magazine
in 1847 whose editor was

Bhartendu Harishchandra.

(A) BalaBodhini

(B) Saraswati

(C) Sitare Hind

(D) Udant Martand

The famous sitar maestro Nawab Inayat
Khan belonged to of Uttar
Pradesh

(A) Etah

(B) Etawah

(C) Auriya

(D) Firozabad

In which city was the third Buddhist
Council held?

{(A) Yangon

(B) Patliputra

(C) Vaishali

D) Rajgir

In which year was the Reserve Bank of
India established?

(A) 1930
(C) 1940

(B) 1935
(D) 1945

Chemanchery Kunhiraman Nair is a noted
dancer associated with which of the
following dance forms?

(A) Kathakali

(B) Mohiniyattam

(D) Yakshagana

Q33 What is India’s rank globally in the

production of onion as per Food and
Agriculture Organization Corporate
Statistical Database, 20167
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Q34

Q35
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Q37
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What was mgrowtﬁpemmﬂge in India’s
égportéd&ins'f-t'hﬁ.ﬂﬂanc‘a‘ year2017-187

(A) 6.8 per cent
(B) 7.8 percent
(C) 8.8 per cent
(D) 9.8 per cent

Which of the following Parts of the
Constitution of India deals with
Citizenship?

(A) Part VI

(B) Part II

(C) Part VI

(D) Part XII

A child below the age of years
CANNOT be employed to work in any
factory under Article 24 of the
Constitution of India.

(A) 14 ®) 15

() 16 D) 17

Which of the following Articles of the
Constitution of India deals with the manner
of election of President?

(A) Article 67

(B) ArticleSs

(C) Article51

(D) Article 74

Who among the following wasthe Depyty
Speaker of the first Lok Sabha in India?
(A) RabiRay

(B) Bali Ram Bhagat
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Qa9

Q40
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NUMERICAL ABILITY

84 960

% and “y are both positive integers, Q39
and so is x. What is the largest possible

velue of x?

(A) 140 (B) 210

() 120 (D) 240

Which of the numbers given below is Q40
exactly divisible by 129

(A) 14744 (B) 28856

(C) 43976 (D) 57228

Ifarope 154 m long is divided in the ratio Q41
9 : 5, then the length of the shorter piece

(inm) is:

(A) 60 (B) 55

(C) 525 (D) 50

78% of 450 is: Q42
(A) 351 (B) 312

(C) 296 (D) 303

< x invested at 9% simple interest per
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cach I:IIP;‘: ‘ Wt 225 ns hin share
;_(::fm::f ofil made. {f Akash 100k home
¢ 286 as his shareF
how much hed Akas 4
(A) T2475
(13) T2500
(C) ¥ 2400
(D) T 2250

the profit made, then
invested”

The average marks obtained by a group
of 25 students was 24. One student left
the group as @ result of which the average
of the remaining students rosc to 25, But
another student came in as @ result of
which the average marks of the group

~ dropped a bit and became 24.8. What was

the average marks obtained by the student
who lefi and the one who joined later?
(A) 10

(B) 15

) 20

(D) 25

Ifx:4:y:5 thenx:yis
(A) 5:4

(B) 4:5

(C) 16:25

(D) 1:20

What would be the interest accrued in two
years if 600 is invested @ 10% interest
compounded annually?

(A) T 121

(B) T123

(C) 124
(D) T 126
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complete a plece of work in 42 mins
70 mins respectively, Starting with Abhay,
they work alternately for a minute each
till the work is completed, with only the
one working at the end being allowed o
work for less than a minute in the final
turn. How long will it take the duo to
complete the work?
(A) 52 mins 24 secs
(B) 52 mins 30 secs
(C) 52 mins 36 secs
(D) 52 mins 40 secs

* Raksha can complete a picce of work in

12 days while Esther takes 20 days to
complete the work. They start working
together but Raksha leaves 4 days before
the work gets over. For how many days
does Esther work?

(A) 6

®) 8

©) 10

@) 12

2 A ship develops a leak 20 km from the

shore. Despite the leak, the ship is able to
move towards the shore at a speed of 12
km/hr, However, the ship can stay afloat
-only for23 minutes. Ifa rescue vessel were
to leave from the shore towards the ship
and it takes 8 minutes to evacuate the crew
and passengers of the ship, what should
bethe minimum speed of the rescue vessel
in onder
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Identify the missing term in the following Q38 ¥ Cicall ,.3.24 2
number serjes. 15.6,18, %"
15,6,18, 9, 21,3, 24,7 (A) 4
4 (B) 6
@) & (C) 8
€ 8 (D) 9
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Identify the next term in the given number 39 ?T:?ﬁ . W
e 275,289, 361.
225, 289, 361, ? (A) 400
(A) 400 (B) 311
(©) 421 (D) 441
(D) 441 a o
= F gx @@l P
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Q65 Select the option that is related to the third

term in the same way as the second term
is related to firsy term,

Ammeter : Current -« i Setsmograph : ?
(A) Humidity (B) Rain
(C) Earthquakes (D) Thickness

Q66 Select the option that is related to the third

term in the same way as the second term
is related to first term,

Bees : Swarm :: Riders - 7

(A) Drivers (B) Cavalcade

(C) Man (D) Fast

Q67 Calfis related to Cow in the same way as

Larva is related to:
(A) Snake
(C) Fish

(B) Mosquito
(D) Insect

Q68  Select the option that is related to the third

term in the same way as the second term
is related to first term.

Bangladesh : Dhaka :: Italy : ?

(A) Rome

(B) London

(C) Tokyo

(D) Havana

Q69 EFG isrelated to 567 in the same way as

OPQ is related to:
(A) 141516
(B) 131415

(C) 151617

v
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Q70 Selecttheoptionthatis related to the third
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@?? ﬁisgmm IS coded as URWDWH, how
is COUNTING coded in that e?
(A) FRXQWLQJ e
(B) RIPSCTUD
(C) WPLMOSUK
(D) TMJCKVPE

Q78 Inacertain code, CHORUS is written as
PIDTVS. How will SINGER be written
in that code?

(A) JOTLHF

(B) QITMHK.

(C) JOPFTH
(D) OITSFH

Q79 Inacertain code language, VEGETABLE

is written as FMCBUFHFW.
How is ARSENAL written in that
language?

(A) MBGLECT

(B). MBOFTSB

(C) BGKMORC

How many such paits 0f ]etters are there

Q1 3R w;ﬁm“ tmmﬂﬂmﬁ
URWDWH a1 TG S
COUNTING ) Rl ¥

~AR) FRXQWLQ!
(B) RIPSCTUD

(C) WPLMOSUK
(DY TMICKVPE

78 -1 cﬂanus @i PIDTVS
= %Emﬁf a w w’w # SINGER
P fr W% faar
(A) JOTLHF
(B) OJTMHK
(C) JOPFTH

afy R re T § VEG QTABLEaﬁr
FMCBUFHFW forar oam 8, df o
Pre Wi § ARSENAL ®Y et war
Rorar sgw?

(A) MBGLECT

- (€) BGKMORC

(D) OBGSKLM
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QB3 A kickboxers
. k *3 sister is my aunt.”

.Héw is"m peautician related to the
kickboxer?
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@86 The following Venn diagram shows
o :mmbnmwfmuafﬂmoy of

PArons in 4 oity with respeet o thair
Lo lnowledye of Kunnaduk), Hind 011) &
B d Tolugu(r)

3 What s the rutio of persons with respect il d aqrall 7 S ATl e
k to their knowledge on all the three lan- &) ey s @A wfderdt B HE F
5 guages 1o those who do NOT know sz B o 8 (K) T i
| Kannada(Ky? #

. (A) |14 (B) 14:1 (A) 1:14 (B) 14:1

' (C)1:24 (1) 24: 1 () 1:24 (D) 24: 1

Q87 The following Venn diagram shows N A e w49 st B8 (K) &

I-h-. information about the result of Survey of _ (mmmmﬁmﬁmﬁw
M 1500 persons in 8 city with respect o their qfRoT 4

. knowledge of Kannada(K), Hind (H) &



What is the ratio of persons who know
2 'I‘eluguandHh!ﬂltﬂﬂmse who know only

(A) 1:3

@) 1:2

€)5:3

(D) 3:5

) Studylthe ﬁeupv\thag@mt carefully and
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(D) 3:5
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that of 201 70 (A) 4:7 \‘
(A) 4:7 (B) 4:5 ¢ 2E~
(B) 4:5 () 4:3 \yc
{C) 4:3 (D) 2:3
(B)2:3
Choose the figure that is different from | SN IR W e W W I WA=
the rest. g
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Q98 Choose the figure that is different fom Q98 W Sl T i
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Q99 Choose the figure that is different from Q99 ww m@ﬁwﬂqaﬁ Y e 3| =
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Qtos Two positions of

53 same dice are as shown
balow, e numb
o m he rumber a the botom
{ (A) 2
5 ®) 3
| ©) ¢
! (D) 4
Q06 What is the next number that follows in
the series?
14,22, 32, 44, 58, 74,2
(A) 90 ®) 92
é €) &4 (D) 87
" Q107 What is the next number that follows in
| ‘the series?
i 6, 96, 196, 306,?
L (A) 426 (B) 440
b (C) 395 (D) 450

Q108 Identify the missing number in the given
8,24,72,7,648
(A) 200
©) 232

“ ammm%nishimnk&amm

®) 326
©) 216

(A) 2
(B) 3
() 6
(D) 4

Q106 T Ajwen & srrell Wam W W A2
14,22, 32, 44, 58, 4.7 B
(A) 90 (B) 92 9V
(C) 84 (D) 87

Q107 §¥ Hwar A 7" $mwma¥mﬂ1’?

6,96, 196,3062 t-»
(A) 426 (B) 440
(€©) 395 (D) 450 /
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Q139 Frfor we & 3gwd 2
(A) A (B) #
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